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@ Graph the equation below:

5/: ——%—xg—zx

Then determine the characteristics listed below and draw the axis of symmetry.

Coordinates of the vertex:

Coordinates of the y-intercept:

Coordin_ates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:
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x2—4x+5

.

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the veﬁéx:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:
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@ Graph the equation below:
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Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertéx:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




Graph the equation below:
y=x+5-6x

Then determine the characteristics listed below and draw the axis of symmetry.

Coordinates of the vertex:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:

y:x2—4x+3

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex:

Coordinates of the y-intercept:

Coordin_ates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:

}J=2x2—4x+l

Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertex:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:

y =___3x2_ 1 4 1%

Then determine the characteristics listed below and draw the axis of symmetry.

Coordinates of the vertex:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




Graph the equation below:
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Then determine the characteristics listed below and draw the axis of symmetry.

Coordinates of the vertex:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:

L]

Coordinates of the vertex:

Coordinates of the y-intercept:

Coordinrates of the point symmetric with the y-intercept;

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:

y = ,xQ—-4JC

Then determine the characteristics listed below and draw the axis of symmetry.

Coordinates of the vertéx:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




@ Graph the equation below:
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Then determine the characteristics listed below and draw the axis of symmetry.
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Coordinates of the vertéx:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




® Graph the equation below:

y':ﬂ3x2+2x+1

Then determine the characteristics listed below and draw the axis of symmetry.

Coordinates of the vertex:

Coordinates of the y-intercept:

Coordinates of the point symmetric with the y-intercept:

Coordinates of the zeros:

Equation of the axis of symmetry:




